Set the Outside-Outside sponson spacing to around 560 mm (22") with equal spacing on booth sides.

T e N T T T S oo, D/ - ’ ’.4’5—
:: | h H h H | : | : | :: : Turnfin mount aluminium fasteners y
:: ! h H h h | L : 1-" : : : « 10 mm (or 3/8") round rod threaded with a M4 or 6-32 threading tap. - Yy 4 -
0ol h h h H | " i i i i | + Glued with slow epoxy - sand smooth on booth sides. -
1! 1 Il 1 Il | | | | |
| T TR o o A vz
i T [ o o
g :\ " E: " E: : : : : : : | KEP’s T3-45 V2 Outrigger Racing Hydro - Freebie PDF 10f2 Main Drawings | Version 2.0/2018-03-16 | Scale: 1:1/ Paper size: 980 x 594 mm © Design by Niklas Edlund / 2012-2018
""" - e i ¥ s I I L S e I S N i
. . | | I
: : : : 3.3 mm hole for M4x0.7 Thread Set Up Help:
E E E E E Zero Turnfin Toe-in: If the boat is running too hard on the front sponsons:
af |1 © 1O The T3 45 V2 does nc;t Use any toe-in on the sponsons or turn-fin! 1. Adjust the strut/prop shaft so it's downward angle is less. It's perfectly ok to run the
v I ! ! ! y P ) strut parallel to the water. In fact, if you can run it like that it will be the fastest set-up.
— 2. Raise the complete strut up by T mm (.04") at a time until you're satisfied with the ride.
Sponsons:
You can make the sponson cores in several different ways. My personal favorite Turnfin Doubler: If the boat runs too light on the front sponsons (wants to fly):
If 6-32 screws -> drill the (3) holes with 3.7 mm (.145") drill bit (and among Fhe strongest) is thlns: . N . . . Use JB Quick weld to glue it on the _ 1. Lower the complete strut by 1 mm (.04") at a time (it should always be above the water level though).
It V4 > drill the (3) holes with 4.2 mm (.165") drill bit + Make a laminate of 33 mm (1.3") thick Divinycell H60 foam material that is planked/laminated outside of the sharpened turnfin. 2.Increase the downward angle of the strut/prop shaft.
SCrews ->dri With 4. : 1ol with 1.5 mm (.06") thick aircraft birch plywood on each side. Use PU glue to bond them together. 3. Make the ski higher by attaching one more layer of double sided tape.
+You can also use a simmilar thick sheet of balsa wood and do the same type of laminate as above. 4. Make a new set of sponson ride pads that are thinner and/or a little bit shorter.
G} « The total thickness of the sponson cores is not that critical really. If possible aim at a finnished Or use a thinner double sided tape to mount them on the sponsons.
{l} thickness around 34-36 mm (1.34"-1.42"). |
A AN A AN A AN A AN A A A AN A A A Sponson Tubes: | -
Y Y Y Y Y Y Y YY Y Y YV \|//\|/ « Recommended sponson tubes: Pultruded Carbon Tubes 10x8 mm with 12x10 mm slip-over 1 215
aluminium tubes that are glued in the the sponsons and tub. ) §
#1 Bulkhead - 76 x 27 mm 32 17
If 6-32 screws -> drill the (15) holes with 4.2 mm (.165") drill bit !
If M4 screws -> drill the (15) holes with 4.5 mm (.177") drill bit . - =
(15) ( ) Tub Sides: ‘ ‘ ‘ o /\ /\ E §
Turn-Fin Mount Plate You can make the tub side cores in several different ways. My personal favorite is this: — K/ \/ ) - /\ =
. Aluminium Plate Stock (like 7075-T6) or 3 mm (1/8") Carbon High Strength + Make a laminate of 3-4 mm (.12"-.16") thick balsa, or even better basswood plywood, that is i Q Kj
Material thick . 3.4 1/8" 16 5/32" 9 9 planked/laminated with 1 mm (.04") thick aircraft birch plywood on each side. Use PU glue D - iy
’ ater.la thickness: 3-4 mm ( to ) to bond them together. If you chose balsa - use as hard ones that you can find for the cores. 5
- Use either M4 or 6-32 screws oy ah N o N
« Cut out the printed drawing and use removeable spray glue to attach @ #3 Bulkhead W o 0
it to the prefered plate material and use that as a template for drilling 2075-T6 Aluminium #2 Bulkhead - 76 x 39.5 mm 76 X 52.5 mm © #4 Bulkhead - 76 x 44.5 mm #5 Transom - 76 x 41.5 mm
and cutting it out. ) W gon 38 38
Drill a 2 mm hole through booth the N 1.5-1.6 mm (.59"-.63")
outer aluminium tube and the inner N @
carbon tube. Push a 2x12 mm steel N . Receiver Switch Plug
—_— - pin through booth to make a secure \\ . . . Ih d a 6-32 (or M4) nylon bolt d1o
£ E E e”?g lock. HOIdgthe pin in place with normal E E \\ After the tub is done - drill 2.5 mm holes in the tub and Io:g(\e/vtijts‘:a ;iece cfi?lrbu-B)rg);((Er;ilicc:)onaer(f)l:ler} tubenc;?er it.
E| | o ! {Q‘é electrical tape. A| O !|<A \ glue in 2 mm round hardwood dowels with epoxy. Drill the hole in the deck to suit the diameter
8 ! ! NF : ! Sand smooth when the glue has hardened. so it will be a snug and water tight seal
| | I |
| | ! |
A AT no ' ! i OF ©
A S AT B FRFE L L - — | ) =
gl A S Y N L LR EEEEEEEEEEEEEEEEEE N N R N B L —
2 “ N I G O = “: N =
£ | o ] = AN | %S <Q> C
IS | | | X L I / — =~ wr- | | | | | _
© L& Lo [ I 1 PR i R R R e b Tt — - ' o
< | l | ! " " N [ 1___:':"_|__|__|__:_ —aaMn A I X X
E 2 o | TR v R o S ST I/ ARBREEEETE =y pay I
° . E L . T f R
< I = I I X }: :} N\ : | I : | .
o e o | T | i | | |
E | T T T T - —+ __E-_ - [l Ty T T | HE | D e h i —! f
£ ! ! il I T .
3 3 | -
E 3 i : -
| v |
E - y !
£ #1) tcooIooozzoooDzos i
o ! [
Qo \ !
E \\\ +:~1:-*:-—————v —————— L
v \\\___ 1 :
- Tub length: 796.5 mm (31.36") - Total lenght of the boat from transom to tip of sponsons: 900.5 mm (35.45")
Use a self adhesive plastic film to cover

)

|

| . Neodymium Cowl Magnets
i< C-C:210 mm (8.27") >| I In cowl disc: 4x3 mm « In tub rod: 4x7 mm
|

the radio room and bait box.
The one we use are ment to cover books with.

www.supermagnete.de

Cowl holder - Two 0.8 mm
Polycarbonate sheets cold bended at 90 deg.

Don't glue them together. IR !
{ T \ NOTE!
. ! ' \ The ski is ment to be removeable so you can alter the set-up and
) \‘ l“& '\ it's attached with double sided tape to the tub. You are missing
; X 7 = N b S N B : the point with this design if you glue them on and most likely you
D =—————V e e T —w- T F-— T/ r will end up with a set-up that you can’t change.
_ — -~ e e e Q) =7 il!'[ R 2 T P ] P P y 9
e - E = / <]
N - AN I

-
I
|

1
I
I

— @ ’ -ll
o ——-—-—-——--—~ T~ 7 I ! = (../i:\\ 4,
THHA-= \ ’-——===;===£2T'-lm \
i \\ ’ O
X
N ’!"!éi;. -s\
iy
DN
ALY °
AR D XD
B ] U\ U N\ TS
After the tub is done - drill 2.5 mm holes in the tub and ) ' -
glue in 2 mm round hardwood dowels with epoxy. e
N 24.8 mm (.98")
\ After-plane length: 650 mm (26.6")
@ — Turnfin CW Ski Anale of Attack 27 mm (1.06")

Adj h fin f h i Angle of Attac _

Sponsons Angle of Attack ) hoTe ounting bracket so the Center of Weight of he - Ao 1.5 HiE
« AoA Left & Right: 3.6° with 2 mm (.079") ride-pads The ridepads are ment to be removeablg SO you can boat is where this CW ing is without fuel on board - Mounted with 0.7-1 mm (.028"-.04") thin double sided tape to the tub bottom <
» Ride-pads mounted with 0.7-1 mm (.028"-.04") thin double sided tape alter the set-up and they are attached with double oat Is where this marking Is without fuel on board. S
+ You can increase the AoA by making the ride-pads longer and/or thicker sided tape to the sponsons. You are missing the %
point with this design if you glue them on and ﬁ
. . most likely you will end up with a bad set-up. @
o | £
2 £
| | N

T o "/:/-/::::----------------------------------------------'i—----i'— __________________________________ o ___ S S
! I h V_

= (3 TS R IR




